	Opérations 
	La multiplication
	


Tu poses et tu calcules

1 542 x 56 =

3 789 x 124 = 

8 500 x 547=

	Opérations 
	La multiplication
	


Tu poses et tu calcules

1 238  x 82 =

6 009 x 207 = 

1 632  x 36=

	Opérations 
	La multiplication
	


Pose puis calcule

874 x 8 =


4069 x 4 =



398 x 9 =

	Opérations 
	La multiplication
	


Pose puis calcule

75 x 9=


4168 x 4 =



148 x 8 =

	Opérations 
	La multiplication
	


Pose puis calcule

4789 x 50 =


458 x 3 =


5890 x 46 =

	Opérations 
	La multiplication
	


Pose puis calcule

7508 x 3 =


857x 5 =

4679 x 8 =

	Opérations 
	La multiplication
	


Pose puis calcule

874 x 8 =


409 x 6 =


398 x 7 =

	Opérations 
	La multiplication
	


Pose puis calcule

729 x 9=


468 x 7 =


1458 x 8 =

	Opérations 
	La multiplication
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Pose puis calcule

4789 x 15 =


458 x 23 =



695 x 28 =

…

	Opérations 
	La multiplication
	


Pose puis calcule

486 x 39 =


467 x 89 =



628 x 52 =

	Opérations 
	La multiplication
	


Pose puis calcule

874 x 8 =


4069 x 4 =



398 x 9 =

	Opérations 
	La multiplication
	


Pose puis calcule

889 x 3 =


75 x 9=


4168 x 4 =

	Opérations 
	La multiplication
	


Pose puis calcule

148 x 8 =


464 x 7 =


4679 x 8 =

	Opérations 
	La multiplication
	


Pose puis calcule

6258 x 2 =



7508 x 3 =



857x 5 =

	Opérations 
	La multiplication
	


Pose puis calcule

5890 x 6 =



8924 x 2 =



4789 x 5 =

	Opérations 
	La multiplication
	


Pose puis calcule

458 x 3 =


874 x 8 =


409 x 6 =

	Opérations 
	La multiplication
	


Pose puis calcule

398 x 7 =


889 x 9 =


729 x 9=

	Opérations 
	La multiplication
	


Pose puis calcule

468 x 7 =


1458 x 8 =



4614 x 7 =

	Opérations 
	La multiplication
	


Pose puis calcule

1 874 x 8 =


4 009 x 6 =


4789 x 15 =

	Opérations 
	La multiplication
	


Pose puis calcule

458 x 23 =


695 x 8 =…


1 486 x 3 =…

	Opérations 
	La multiplication
	


Pose puis calcule

628 x 52 =



6 234 x 25 =

3 501 x 36 = 



	Opérations 
	La multiplication
	


Pose puis calcule

5 009  x 75 =


4 083 x 85 = 


3 621  x 302=

